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= English Grammar L-1 to 09
PART-A
Q.1 MCQ
PART-B

Q.1 (a) Fill in the blanks with Present Continuous tense.
Q.1 (b) Fill in the blanks with Prepositions.

Q.2 (a) Fill in the blanks with articles.

Q.2 (b) Fill in the blanks with Conjunctions.

Q.3 (a) Write the Antonyms of the underlined words.
Q.3 (b) Give the synonyms.

Q.4 Punctuate the following sentences.

Q.5 Comprehension.

Q.6 Letter or Application.

= English Text L.-2 to 8 Poem:7

PART-A

Q.1  Tick the correct option.

PART-B

Q.1  True or False.

Q.2  Fill in the blanks with brackets.

Q.3 Match the following.

Q.4 (a) Complete the lines of the poem.

Q.4  (b) Give the meanings.

Q.5  Answer the following questions.(any 5)

= S.S.1.-4.5.6.7

Q.1  Tick the correct option.

Q.2 Fill in the blanks

Q.3 True or False

Q.4  Answer in one word.

Q.5  Answer the following question

= Computer [-1,2,3
Q.1  MCQs.

= Maths All chapters
Q.1  Tick the correct option.
Q.2 Do as directed

Q.3 Do as directed

Q.4 Solve the following
Q.5  Solve the following
Q.6 Do as directed

Q.7  Convert into as said
Q.8  Find the following

Q.9  Problem sums.

= G.K.
Q.1 Tick the correct option.
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= Science L-1to4
PART-A

Q.1  MCQs.

PART-B

Q.1  Fill in the blanks.
Q.2 True or False.
Q.3  Matching

Q.4  Define

Q.5  Draw the diagram with colour.

Q.6  Answer in short.
Q.7  Answer in brief.

= Gujarati

Y-1 ARA @Qseu ue s cdull.

Y-2 ollAstl Yl ol scllol A
Y-3 o{lAe{l wuell ooau Y2l
YU-4 Al 206€l Al

Y-5 oglcl olecl.

Y-6 oflAotl A€l UL WojAR cdusl 31l 2l cul.
Y-7 o{lAoll cusell e e Ul cul.

= Hindi
9-1  HE [dheT gaaat forgr|

g-2 Y@ & IcaT arl
9-3  grear g3

g-4 Hel IAT Iedd Hl AT STImsT

g-5 AT eq FAST

9-6  TIANUT eregr &1 AT HIfod |
g-7 5 e JAw 9T grg g o
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